
SAP ABAP table DIMPOS {Maintenance item}

DIMPOS

MANDT [CLNT (3)]

WARPL [CHAR (12)]

WSTRA [CHAR (6)]

EQUNR [CHAR (18)]

PLNTY [CHAR (1)]

WPGRP [CHAR (3)]

GEWRK [NUMC (8)]

IWERK [CHAR (4)]

ILOAN [CHAR (12)]

LAUFN [CHAR (12)]

BAUTL [CHAR (18)]

AUART [CHAR (4)]

ILART [CHAR (3)]

GSBER [CHAR (4)]

OBJNR [CHAR (22)]

MITYP [CHAR (2)]

WAERS [CUKY (5)]

SERMAT [CHAR (18)]

QMNUM [CHAR (12)]

QMART [CHAR (2)]

PRIOK [CHAR (1)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 DIMPOS-LAUFN = AUFK-AUFNR 
0..N

0..N

CRID

MANDT [CLNT (3)]

OBJTY [CHAR (2)]

OBJID [NUMC (8)]

 DIMPOS-GEWRK = CRID-OBJID 
0..N

0..N

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 DIMPOS-EQUNR = EQUI-EQUNR 
0..N

0..N

ILOA

MANDT [CLNT (3)]

ILOAN [CHAR (12)]

 DIMPOS-ILOAN = ILOA-ILOAN 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 DIMPOS-BAUTL = MARA-MATNR 

0..N

0..N

 DIMPOS-SERMAT = MARA-MATNR 0..N

0..N

MPLA

MANDT [CLNT (3)]

WARPL [CHAR (12)]

 DIMPOS-WARPL = MPLA-WARPL 
0..N

0..N

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 DIMPOS-OBJNR = ONR00-OBJNR 
1

{0,1}

QMEL

MANDT [CLNT (3)]

QMNUM [CHAR (12)]
 DIMPOS-QMNUM = QMEL-QMNUM 

0..N

0..N

T000

MANDT [CLNT (3)] DIMPOS-MANDT = T000-MANDT 0..N

0..N
T003O

CLIENT [CLNT (3)]

AUART [CHAR (4)]

 DIMPOS-AUART = T003O-AUART 
0..N0..N

T024I

MANDT [CLNT (3)]

IWERK [CHAR (4)]

INGRP [CHAR (3)]

 DIMPOS-WPGRP = T024I-INGRP 

0..N

0..N

T351

MANDT [CLNT (3)]

STRAT [CHAR (6)]

 DIMPOS-WSTRA = T351-STRAT 

0..N

0..N

T353I

MANDT [CLNT (3)]

ILART [CHAR (3)]

 DIMPOS-ILART = T353I-ILART 

0..N

0..N

T356

MANDT [CLNT (3)]

ARTPR [CHAR (2)]

PRIOK [CHAR (1)]

 DIMPOS-PRIOK = T356-PRIOK 

0..N

{0,1}

T399I

MANDT [CLNT (3)]

IWERK [CHAR (4)]

 DIMPOS-IWERK = T399I-IWERK 

0..N

0..N

T399P

MANDT [CLNT (3)]

MITYP [CHAR (2)]

 DIMPOS-MITYP = T399P-MITYP 

0..N

0..N

TCA01

MANDT [CLNT (3)]

PLNTY [CHAR (1)]

 DIMPOS-PLNTY = TCA01-PLNTY 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 DIMPOS-WAERS = TCURC-WAERS 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 DIMPOS-GSBER = TGSB-GSBER 

0..N

0..N

TQ80

MANDT [CLNT (3)]

QMART [CHAR (2)]

 DIMPOS-QMART = TQ80-QMART 

0..N

0..N


